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[CO(g)] = (-824.2) + 3% (=110.5)
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AHP= 3 x AHP [CO,(Q)] = 3 % (=383.5)
==1188.5 kJ
AHTP+ AHR. = AHP
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1610 kJ 1652 kJ

4x(O-H)=4x463 =5 » (3=0)= 2 x 496 =
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3220 kJ =612 kJ
45 (O-H)=4x463=|4x (C-H)=4x413=
1852 kJ 1652 kJ
3% (0=0) = 2 x 406
= 1488 kJ

~5072 k) = gpaaead) | 3752 kd = gooceal

=gy peetl Ggmmalt o it
+3752 +(-5072) = = 1320 kJ/mol

AHT= AHP [C;H,(g)] = =104.5 kJ
AHET= 3 x AHP [COL@)] + 4 x AHP [H,0,()]
=(3 x =393.5) + (4 x =285.84) = =2323.7 kJ
AHP+ AHE, = AHF

AHE, = AHP - AHT
= (=2323.7) = (=104 .5) = =221%.2 kJ/mol
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AH, = 4 x AHE[C(graphite)] + 5 x AHE[H,(g)]
= (4 x -393.5) + (5 x -285.8) = -3003.0 kJ
AH, = AHE[CH olg)] = =28786.5 kJ
AH, = AHP [C4H o(g)] + AH,
AHPICH o(0)] = AH, - AH,
= =3003.0 - (-2876.5) = =126.5 kJ/mol
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